Bitspower®

fc &
B MSI X399 Creation &5
(1) BP-MSMX399CR 14
2@ lomxmmamp 3k
(3 BBz 6 R
@ o05=kET 3R
(B) M2.5x6 EkiBs 3%
(6 EREHR 1 K(FaiE)
(@) M2.5x 10 kB4 3%
Accessories
Designed for MSI X399 Creation
(1) BP-MSMX399CR 1SET
(2 1.0 mm Thermal Pad 3PCS
(3 Washer With Gum 6 PCS
(@ 0.5 mm Washer 3 PCS
(6) M2.5x6 mm Screw 3PCS
@ Original Backplate 1 PCS(Not Included)
@ M2.5 x 10 mm Screw 3 PCS
SSSli
fc &
A MSI X399 Creation i&it
0 (1) BP-MSMX399CR 14
(@ 10=KSRBA 3R
@ BRED 6 R
6 @ 05=keET 3R
(B) M2.5x6Ekigy 3%
6 FI&R 1 B (RaE)
@) M25x10 =KL 3%

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRAELURBENES - MEEHOASTEN - EREACARGURYRE -
& KRTREN MR BRI RBRNNT - MAENOASITEN - RIS SEGFUIIRE



Bitspower’

BRSNIERERAME

B 1 MmEss g

Thermal Paste Applied Correctly Positions.

Eih=

SHRENIERNRIIE
[ 1 MM THERMAL PAD B 1 =xksSrek

AR - HKE - AARRAASHERREERNNE E - ERMEY - ERKROERT - A Before fill in water,please make sure all the component be installed correctly,

ET24\SARKAIE - BARRKELEEAEIN - BRRE RSN BB HARR - avoiding|eaking happen and destroy the PC component.

AR - KA - BERIAMASHELRRAEERNMEE - £FXF N - BFKRERT
HT24/NREKINE - RRERKIEREETEN - BRRERKNSH BB HAIRT

V1/58—hR



